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What is the effect on the total resistance if a new branch is added to a parallel circuit?

O ltincreases

O It decreases v

O It remains the same
O It doubles

Adding a new branch to a parallel circuit decreases the total resistance of the circuit. This is because the
total resistance in a parallel circuit is calculated using the reciprocal of the sum of the reciprocals of each
individual resistance, which results in a lower overall resistance as more paths for current are created.

What happens to the total current in a parallel circuit if one branch is removed?

O ltincreases

O It decreases v

O It remains the same
O It becomes zero

In a parallel circuit, if one branch is removed, the total current decreases because the overall resistance
increases, leading to less current flowing through the remaining branches.

If a light bulb in a parallel circuit burns out, what happens to the other bulbs?

(O They all go out

O They become dimmer

O They continue to work normally v
O They become brighter

In a parallel circuit, if one light bulb burns out, the other bulbs continue to function normally because each
bulb has its own independent path to the power source.

Which of the following is a disadvantage of parallel circuits?
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O Voltage drop across components

(O Continuity of operation

O Increased heat and energy loss v’
O Consistent voltage supply

One disadvantage of parallel circuits is that they can draw more current from the power source, which
may lead to overheating or require thicker wires to handle the increased load.

In a parallel circuit, the voltage across each component is:

O Zero

O Half of the source voltage

O Equal to the source voltage v’
(O Double the source voltage

In a parallel circuit, each component experiences the same voltage across it, regardless of the resistance
of the components. This characteristic allows for independent operation of each component in the circuit.

What is the main characteristic of a parallel circuit?

(O Components are connected in a single path

(O Components are connected in multiple paths v’
O Voltage varies across components

(O Current is the same through all components

A parallel circuit allows multiple paths for current to flow, meaning that if one component fails, the others
can still operate. This results in consistent voltage across all components and the ability to add more
components without affecting the overall circuit performance.

In a parallel circuit, which factors affect the total current? (Select all that apply)

(] Source voltage v’
(1) Number of branches v’
(J Resistance of each branch v/
(] Type of power source
In a parallel circuit, the total current is affected by the voltage across the circuit and the resistance of

each branch. The total current is the sum of the currents through each parallel branch, which is
influenced by these factors.

How does the failure of one component in a parallel circuit affect the overall circuit operation?
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| The overall circuit operation remains unaffected by the failure of one component.

Which of the following are advantages of parallel circuits? (Select all that apply)

(7] If one component fails, others continue to work v’
(] Easier to calculate total resistance

(J Consistent voltage supply to each component v’
() Lower energy consumption

Parallel circuits offer several advantages, including the ability for components to operate independently,
ensuring that if one component fails, the others continue to function. Additionally, they provide consistent
voltage across all components and allow for easy addition of more components without affecting the
overall circuit performance.

Explain why the total resistance in a parallel circuit is less than the smallest individual resistance.

/7

The total resistance in a parallel circuit is less than the smallest individual resistance because the
parallel paths allow more current to flow, reducing the overall resistance.

What are common applications of parallel circuits? (Select all that apply)

(] Household wiring v/

(] Christmas lights

(] Flashlights

() Battery systems to increase current v’
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Parallel circuits are commonly used in applications where multiple devices need to operate
independently, such as in household wiring, automotive electrical systems, and electronic devices. This
configuration allows for consistent voltage across all components and ensures that if one device fails, the
others continue to function.

What are the potential hazards associated with high currents in parallel circuits, and how can they
be mitigated?

/

The potential hazards associated with high currents in parallel circuits include overheating,
equipment damage, and fire risks, which can be mitigated by using appropriate fuses, circuit
breakers, and ensuring proper wire sizing.

Discuss the impact of adding more branches to a parallel circuit on both current and resistance.

/7

When more branches are added to a parallel circuit, the total resistance decreases according to
the formula 1/R_total = 1/R1 + 1/R2 + ... + 1/Rn, leading to an increase in total current as per
Ohm's law (I = V/R).

What safety considerations are important for parallel circuits? (Select all that apply)

(1] Use of circuit breakers v’

() Monitoring total voltage

(J Ensuring wires can handle total current v’
(U) Prevent voltage drop
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When working with parallel circuits, it is crucial to consider the risk of overcurrent, ensure proper
insulation, and verify that all components are rated for the same voltage to prevent electrical hazards.

Which of the following statements are true about parallel circuits? (Select all that apply)

(] Each branch has the same current

() Total current is the sum of the branch currents v’
() Voltage across each branch is the same v

(_] Total resistance is greater than any individual resistance

In parallel circuits, the voltage across each component is the same, and the total current is the sum of the
currents through each component. Additionally, if one component fails, the others continue to operate.

Which of the following is true about the total resistance in a parallel circuit?

O It is equal to the sum of all resistances

O ltis greater than the largest resistance

O ltis less than the smallest resistance v’
O It is equal to the smallest resistance

In a parallel circuit, the total resistance is always less than the smallest individual resistance. This is
because the current has multiple paths to flow through, reducing the overall resistance.

Describe how Ohm's Law is applied in parallel circuits to determine unknown values.

In parallel circuits, Ohm's Law is applied by using the formula V = IR to determine unknown
current or resistance values, knowing that the voltage across each branch is the same.

Provide a real-world example of a parallel circuit and explain its advantages in that context.
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/

A real-world example of a parallel circuit is the electrical system in a household, where multiple
appliances are connected in parallel. The advantages include the ability for each appliance to
operate independently, ensuring that if one appliance fails, the others remain unaffected.

Which of the following calculations are necessary for analyzing parallel circuits? (Select all that
apply)

(] Total resistance using reciprocals v’

(] Total voltage by adding branch voltages

() Total current by summation of branch currents v’

(J Power consumption for each branch v’

To analyze parallel circuits, it is essential to calculate total resistance, total current, and voltage across
each branch. Additionally, understanding the individual branch currents and their contributions to the total
current is crucial.

In household wiring, why are parallel circuits preferred?

(O They are cheaper to install

O They allow devices to operate independently v’
(O They reduce the total current

O They increase the voltage

Parallel circuits are preferred in household wiring because they allow multiple devices to operate
independently without affecting each other's performance. This ensures that if one device fails, the others
continue to function normally.
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